(1. Prafafed # 4 319 A Yowiea ¥ s e
99 Aoqd gl I&hdl g ?

In which of the following alcohols the hydrogen
bond can be the strongest?

(A) Ik G / primary

(B) fgdd® / secondary

(C) ?j'cﬂ'qﬂ'T / tertiary
(D) <t+1i H / in all three




(2. dfeeETEs T e & A% B & Ry SuaiT @ aet
sffufeear g

The reaction used to distinguish between aldehyde

and ketone is

(A) QZ%\‘:[ Sffyfepar / Wurtz reaction
(B) &ica fUTpaT / Kolbe reaction

(C) Hﬂ@ﬁ-m Sffyfepar / Friedel-Crafts reaction
(D) areq sffyede sifufear / Tollen reagent reaction




" 3. Wfei frerm 2
Felling solution is
(A) Gl'l:ﬁﬁ'm PIUR b / ammoniacal copper
sulphate
(B) SMRIT HTUR eWbe / acidic copper sulphate
(C) CuSO, + NaOH
(D) CuSO, Pl g Oid / Aqueous solution of
CuSO,




(4. 8 W St AR T I o QT S 3T
¢, e g
The protein which gives only a-amino acids on
hydrolysis is called
(A) HIal / Simple
(B) '\‘I'ﬂ'lﬁf M / conjugate protein
(C) A UGG / derived proteins
(D) U Ui / simple protein




5. amqet A w3
The ideal gas equation is-
(A) PV=mRT
(B) PV = nRT
(C) PV (pow)n = ¢
(D) PV = RT




[ 6. ufy 3§ g R T 10 Mey/Apvs & 3uf w0 3
U DI AR I IVl 91T ot 2 YHUS d1¢ IHDT A AT
BRI 2
If a ball is thrown vertically upwards with an initial
velocity of 10 m/s, then what will be its velocity after 2
seconds?

(A) 9.6 'Fﬁ/ﬁ 4 & B / 9.6 m/s downwards
(B) 9.8 'Fﬁ/ﬁw &t 3R / 9.8 m/s upward

(C) 4.9 /A - Y AT / Like below 4.9 m/s
(D) 4.9 Hl/A I Y OXE / Like below 4.9 m/s




‘7 WP fa® TgaP AIRTH BT IGIE T &-
An example of natural polymer compound is-
(A) AITIAT1-66 / nylon-66
(B) AIATH-6 / nylon-6

(C) @?q\?ﬁﬁ / cellulose
(D) TURII / teflon




" 8. WiIeY 3R AT ¥ FarATE) BT ST 2-
The ratio of masses of proton and electron is-
(A) 2

(B) 1840

(C) 184

(D) 10




(" .
9. U frad St v@dr g 2
What does a capacitor store energy in?

(A) ﬁ'c{ﬂ?[ ﬂﬁﬂﬂ'ﬂ &7 H / in the electromagnetic

field

(B) ﬂﬁ?ﬂ'ﬂ o?aﬁ A / in magnetic field

(C) ﬁ'cjﬁﬁ wifd®s o??ﬁ H / in electrostatic field
(D) B'Clﬁﬁ?[ 7Y aﬂé T-Iébfl none of the above




" 10, Prafifea # & frwd amafre R wE-wRiE
Gl B T SUfRIG § 2

In which of the following both ionic and covalent
bonds are present?

(A) CH,

(B) KCI

(C) SO

(D) NaOH




4 o . :

11. icttargd dedt # Fufafad & & fea sra &
SUART fHar Sran 3 2
Which of the following acids is used in automobile

batteries?
(A) HBr
(B) KCI
(C) HNO;
(D) H,SO,




g 12. e} & ford '1c g Ira=aaan feas st

STl 3 2
What is 'IC' chip for computer generally made

from?

(A) | / Lead

(B) ﬁﬁnm/ Chromium
(C) f%lﬁlﬁ’[/ Silicone
(D) HIFT / Gold




(13.wméﬁﬁs19mﬁmﬁ\m—qﬁw

YRIROT Sl ¢ 1 ¥$al a7 &) awreed 31 I @
P TR B-

A radio station broadcasts at a frequency of 819
kilohertz. is the wavelength of the radio wave. The
wavelength of radio wave is-

(A) 3.66 x 10° Hiex

(B) 3.66 x 10> Hiex

(C) 1.74 x 10° Hex

(D) 2.4 x 107> Hlex




=N H,O0 BT 3IfPdH g9 P aUHH R BdT g ?

At what temperature is the maximum density of
H,O0?

(A) 32°F

(B) 39-2°F

(C) 42° F

(D) 14° F




a :

15. 9 & 9 S1-a1 aHteRor 9t 5 2
Which of the following equations is correct?
(A)Cp—Cy =R

(B) Cp > Cy (WAR BT )
(C) Cy > Cp

Cy
(D)C—p—l




N\

16. Fgfefad § I #19-91 v SUAS U9 SUDSD
(Oxidising and reducting agent) gHTg ?

Which one of the following is to be oxidising and
reducing agent?

(A) MnO,

(B) SO

(©) CI

(D) KMnO,




(A) 3G / Moody

(B) IR<fd® &4 | faafed s actually disintegrate
(C) PNG-PIT GH'I'CIﬁﬁ?/ almost anionic

(D) TIUTT'[ : D / completely ionic
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18. forlt it Aregy o eafy @t a1t 8-

The speed of sound in a gaseous medium is-




s 19. Tig B AT TR DI Al YT SATGT & ST
§AT § 2
Which metal makes a more safe coating on iron
sheet?
(A) Zn
(B) Ni
(C) Sn
(D) Cu




" 20. aief-d aifufirant §
Half-cell reactions are
Cu — Cu?* + 2e" E = -0.34V
2Ag — 2Ag* 2e¢” E = -0.80V
I o1 faggd are® 9 ghm
The electromotive force of the cell will be
(A) -1.14 v
(B) -0.46 v
(C) +0.46 v
(D) +1.14 v




\©

21. 9T AT BT pOH6 B, SHPT pH B
The salt solution is pOH6, its pH will be
(A) 8

(B) 6

(9N,

(D) 14




22. A s Ta A Fagey g 91T 8 2

Which of the following forms colloidal solution in
water?

(A) WE"ﬁTr[ / Glucose

(B) ¥Td / Starch

(C) NacCl

(D) gfAT / Urea




s 23. TAFEIT I Teheh KU Foheesh qagea glar g ?

What is the unit negative charge on the electron
equivalent to?

(A)1.6 x10"°C

(B) 1.6 x 10-°C

(C)1.6x10"C

(D) 1.6 x102C




[ 24. 2Hea B} deA-Tolf 28 Me v UTE TR 1 TR
ufa gfFaei dud ot 2

The binding energy of 2He4 is found to be 28 MeV.
Its binding energy per nucleon is

(A) 14 Mev

(B) 28 Mev

(C) 8 Mev

(D) 7 Mev
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25. T T IS T 8-

The chemical formula of starch is-
(A) (CcH;CHO),

(B) CcHsCO

(C) (CcHeCHO)

(D) (CeH1005)y




26. HfH Fafss U & A1y gfafbar H1 W
PI-T BTG IPIa Gl 8 ?

Which hydrocarbon does calcium carbide give
when it reacts with water?

(A) U / ethane

(B) AT / methane

(C) Sfereli= / ilylin

(D) Qﬁl‘cﬂﬁ:ﬁ / acetylene
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27. PraIP o | Fufafaa d 4 e=-a1 frarars
g Ao g 2

Which of the following functional groups is
included in organic compound?

(A) -OH

(B) -COOH

(C) >CO

(D) -CHO




28. 59 TP fd Y& B TY® & F1Y TH fHaT <a1 3
dl 98 FSR g1 WId1 ¢ | $ UfehaT Bl Fgd -

When natural rubber is heated with sulfur it
hardens. This process is called-

(A) qﬁﬂm / purification

(B) 3THdH / distillation

(C) aﬁv——ngﬁm:r / vulcanization

(D) WE@NH / carbonization




29. YT &b SATRATSS| B UTH # TId U= YT il 8-
When metal oxides are dissolved in water, we get-
(A) 33'@? U / neutral solution

(B) 3T Ui / acidic solution

(C) &I'I'\ﬂ'q ‘Eﬁﬁ/ alkaline solution

(D) E'T-Iﬁ 9 ﬁ'&g T-IT:!:f/ none of these




N\

30. IR UISSR BT IS I 8-

The chemical formula of bleaching powder is-
(A) Cad,5H,0

(B) Ca(OH);

(C) CaCO;

(D) CaOCl, 49T Ca(Ocl)CI




31. 3 O Sl SAGEI B TgUT Bd & SNR-BUMTHSD
TTT T B, cevveenenene. GG

The elements which accept electrons and form
negative ions are..............

(A) YTd / Metal

(B) 3UTJ / non metal

(C) fIYUTg / Metal Alloys

(D) Tﬁm/ compound
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32. foddt IR TRUY & T& Saaei< T JH,
S I9- ufehaT FEATdT & 2
Loss of an electron from a neutral atom is called

which process?

(A) SAdDRIU[ / subtraction

(B) B’ET'\‘ﬂT-ﬂW / neutralization
(C) STRITHIUT / oxidation

(D) ?F-I'Ef q ﬁ'é T-Ié’f/ none of these




33. YTYRUTGYT bl SrpTdfAe 3 & I1Y oid fdt
u1d @1 ufaferar it 8, @ S19-3 I Feadi 2 2

Generally, when a metal reacts with an inorganic

acid, which gas is released?

(A) ATgCISIA / Nitrogen

(B) 81§16 / hydrogen
(C) PTa SIS ATHATZS / Carbon dioxide

(D) SfTRITS / oxygen




[ 34. freft arefurere @Y Arerr

Conductivity of a semiconductor

(A) diU * EIE%[ q Gﬁ'ﬂT gcdl % / always decreases with
increase in temperature

(B) 9% dd & aaﬁ q aa'cﬁ % / increases as its
temperature increases

(C) GI'{[@ L GICK:] 'e!'ﬁ"\’IT EIET'ﬁ % / Adding impurities
always increases

(D) \’rl"s{[@ EGIEEK] '&Tﬂ"ﬂT gcdl % / always decreases

with the addition of impurities
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35. SV AT & foe fafla g 8

The dimensional formula for angular momentum is
(A) ML'T1

(B) M'L'T1

(C) M'L2T

(D) M'L2T2




36. ST DI g¥ IH dF o 1 ardT G R Hgararl
272
What is the device called which carries sound to far

away places?

(A) C’rlj'!vi-l / maintenance

(B) AITHIA / megaphone

(C) I / Phone

(D) dI3S BT / loud speaker




37. R BT UTATID B-
Refractive index of diamond is-
(A) 1

(B) 0.5

o0

(D) 2-4




38. S.I. PGl H SHoll MUYTT BT P SHIS
gidi gl

S.l. In units, the unit of energy or work is
(A) dic / watt

(B) YIcT / joule

(C) feaaic / Kilowatt

(D) 3T / erg




39. Ufd APBUS HUAT HYdT el Bt IS Hadlal
2

The number of vibrations or oscillations per second
is called.

(A) 3TadbTd / Turnover time

(B) P dI<IX / period of time

(C) 3ITATH / Dimensions

(D) an'qﬁr / frequency




40. fort a¥g @1 o1 g fapd g4 &1 &man Heardl
g

The ability of an object to be deformed without
breaking is called.

(A) GEIGILG] / resilience

(B) HS favsgur / slow distortion

(C) WTRE DT / plasticity

(D) UTRIT / elasticity




41. 99§ O HI9-91 g BT 9aifUs YK FU§ ?
Which of the following is the purest form of iron?
(A) Gl dIgT / cast iron

(B) ﬁ?ﬂf?ﬁﬂ / wrought iron

(C) Hg HId / mild steel

(D) 3T XU / carbon steel




42. 91U T 919 # aYdH Ufadq et Susn
SRITTT, Hgamar gl

The smallest change in the measured value that the

instrument will show is called.

(A) gyTddr / accuracy

(B) qﬁ"{[@ / precision

(C) uad / amplification
(D) faH2d / vVibhadev




43. TS & FHIBRUTE = MC2 | ' ¢ J aTead 8-
In Einstein's equation E = MC? 'C' means-

(A) af &t fa / speed of sound

(B) WhTRI Bt el / speed of light

(C) &Nﬁﬂﬁaﬂﬁ/ unchanged element

(D) WHTRT BT T ?I'W'I'sc / wavelength of light




(a4, o Tt R aifirs W & e foven ) Swd i
UTd 1@ | UTd $I goid HH gl St g1 59 ge-T B gd
e B-

Swelling of the foot gets reduced by keeping the
affected foot in warm water mixed with salt in large

quantities. We call this incident-

(A) SMIHIRN (Osmosis)
(B) TSHITT R (Plas molysis)

(C) Eﬁﬁﬂﬁlﬁ'ﬂ (Electrolysis)
(D) E-Tff q ﬁ?.]'sc T-Iﬁ / none of these
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45. TIHH &-

Aspirin is-

(A) TEMIA® / Antibiotic
(B) ﬁ'lﬁ:[ / hormones

(C) m@rﬁw / analgesic
(D) UASITSH / enzyme




46. A IAIP (Artificial fertilizer) H JMHI U I
ATscIoM, BIPRY 3R TH dIERT dd DIH-9T il
e?

Artificial fertilizer generally contains nitrogen,

phosphorus and which third element?

(A) IfSTH / sodium

(B) HTRITH / calcium
(C) UIeRMaH / potassium
(D) GIRR | / barium




N\

47. 3(U[EH B-

Atomic bomb is-
(A) S SMPR &1 d8T fawhled / large

explosive of unlimited size

(B) q:ﬁ:q:%'q'\r dH / thermonuclear bomb

(C) %<1 99 / fizion bomb
(D) oI dH / fusion bomb




N\

48. YR P! THTS gldl 8-

The unit of current is-

(A) dIcC / Watt

(B) YIcT / joule

(C) 3HY i / power Horse
(D) TfARIR / ampere




C 49. HIc? TP 1Y ¢ St uRafdd & -
Motor is a device which converts-
(A) ﬁ@'ﬂﬁ SHoll &I gifA®d SHull H / electrical energy into
mechanical energy
(B) «ld SHoll B A SHoll | / pressure energy into
velocity energy
(C) O SHoit &I faHa et H / velocity energy into
potential energy

(D) TifA® ot & faua Ful § / mechanical energy

into potential energy




s 50. WA WA f[bad BRI YE&RUT (Corrosion) G|
BT g ?

Due to what does stainless steel prevent corrosion?
(A) CAGE| / Carbon

(B) Y / sulfur

(C) 'aTF-ﬂTr[ / manganese

(D) aﬂ'&l'q'l:[/ Chromium




51. ISl oIl BT TP &-

The expression of kinetic energy is-
(A) 7 mv?

(B) mgh

(C) wr

(D) ma?




" 52, TR et R @t v R a9t v 4 TR AR
&} ST a1 ISP SMTaxibTd fhd=T AT §¢ SITET 2
If the length of a spring is made 4 times the length

of the spring, then how many times will its period
increase?

(A) 4

(B) 2

(C) 8

(D) 16




53. G & 3TATH §

The dimensions of G are
(A) [M7L°T™]

(B) [M'L'T™]

(C) M'L™T]

(D) [M=L2T™]




54. 9 BT S.1 AT -
S.1 of force is only-
(A) ST / joule

(B) dIc / Watt

(C) Y / newton
(D) f&UT / kg




55. TSP fUUS HT Y4l &I Jag A Iargd T gl

The escape velocity of a body from the earth's
surface is.

(A) 11.2 Hid/der

(B) 11.2 fopHl et

(C) 11.2 fFHA.

(D) 7.5 e/,




-

56. AP T RRTP (G) B
The universal gravitational constant is (G).

(A) & fuust & o 3MHuT &1 TS 9 / gravitational force of

attraction between two bodies

(B) AP Thd SoqH dra &f fAveT & i syl &7 iy 9d /

Gravitational force of attraction between two bodies of each unit
mass

(C) TH® ¢ A gYP of fuvsi & dig rpdur &1 oy Id /

Gravitational force of attraction between two bodies separated by

a unit distance

g;)) UH-gaR I TH® g3l A YYD 9 YD Thd SoUHI dTd &l fuus]
d° mHdur @1 W’H dd / Gravitational force of attraction

between two bodies separated by a unit distance from each other

and each having unit mass.




g 57. fFdt A9 &1 YR YAt R IfE 600 N B, 9
T HT TR DT R TIHT b1 g 2

If the weight of a human being on Earth is 600 N,
then approximately what will be his weight on the
Moon?

(A) 6000 N

(B) 60 N

(C) 1000 N

(D) 100 N




(58, frelt U & @ B el wET B amuTER TERTE 15
At B, afe SOt aRafd® TeE 20 AW B, 99 59 P
YT B-

The apparent depth of a quantity of liquid in a vessel is
15 cm, if its actual depth is 20 cm, then the refractive
index of the liquid is-

(A) 0.75

(B) 21.33

(C) 300

(D) 1.33
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59. 3T BT A&+ NI BT Y§ Hadldl 6-
The inner back surface of the eye is called-
(A) gaeit (IfUe) / Pupil

(B) TP ged (2fe=m) / retina

(C) ¥ad Ued (PRRIFS) / choroid

(D) STBHUSH (PI-1T) / cornea




" 60. 40W, 60W 3 100W & oI dedl Bl 220V & A

(Main) & 1Y JUft A SIS SITdT 81 S0l 1 Wud ghfl-
Three bulbs of 40W, 60W and 100W are connected in
series with a 220V mains. Energy consumption will be-
(A) 100 W S & fTT & 3iftIe / Most for 100 W bulb
(B) 60 W dcd & forg Ta 3Ifte / Most for 60 W bulb
(C) 40 W dcdl & forg ™ e / Most for 40 W bulbs
(D) Il gl & oY T JHTA / same for all three bulbs




61. 5d B! J¢ DI TP MATHR 1 BT BRI &-

The reason why the shape of a liquid drop is
spherical is-

(A) fam1iRyar/ viscosity

(B) W@'@'ﬂ «ld / atmospheric pressure

(C) U HIX / light weight

(D) Y8 d-Id / surface tension




[ 62. Prafufla § @ frw o3 A afe o dogd
Sot ¥ gRafda gt 2 2

In which of the following machines mechanical
energy is converted into electrical energy?

(A) gmtmﬁ'\r / Transformer

(B) £ rory / Motor

(C) fﬁ@'ﬂﬁ A4 / electric meter

(D) ?F-I'Ef q ﬁ'é T-Ié’f/ none of these




63. 1 fHUT ST BT ATIHTE 30°C A TGTH 80°C B
& T 3maxg® S 8-

The heat required to increase the temperature of 1
kg of water from 30°C to 80°C is-

(A) 1 fet-Beit / 1 kilo-calorie

(B) 30 ﬁﬁﬁ-aﬁﬁﬁ/ 30 kilo-calories

(C) 80 fe-Fa / 80 kilo-calories

(D) 50 W-W/ 50 kilo-calories




64. TG 98- HIAT g |

Carries electrons.

(A) Uh qﬁf B UMAYT / one unit negative charge
(B) G Tjﬁ?’ ¢[MTAT / one unit positive charge
(C) Tjﬁ? FHUITART / two units negative charge
(D) &t Tjﬁ? ¢HTA / two units positive charge
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65. SMIAY ATSee BI TH HIA A ATl BT DIA-
T STRITSS YT BT 3 2

Which oxide of nitrogen is obtained by heating
ammonium nitrate?

(A) NO

(B) NO:

(C) N;,O

(D) N2O:s




66. 4 H SHoll fhdd GRT IUA FIAT @ ?

By what is energy produced in the Sun?

(A) fa@us—/ fragmentation

(B) @& / combustion

(C) fapic® / explosive

(D) SCHT AfUSI UfehdT / thermo nuclear process




“Ompire” measurement is used in:
(A) dTYHTA / temperature

(B) YIRT / Stream

(C) UPIRA / Light

(D) dvuid / Weight




68. 1 Il # I TfFaRITeA! SMUATAD (reducing
agent) BIH-HT % :

Which is the most powerful reducing agent among
the following acids:

(A) BIfHP 3 / formic acid

(B) T&ﬂﬁ'ﬂ? AT / acetic acid

(C) wifuanfA® e / propionic acid

(D) m 3T / chloroacetic acid




-
69. -20°C 19 TR Y& 5 gm T HI 100°C U qTSq

(steam)ﬁmaﬂef%ﬁlﬁmmﬁ
HIAT :

The amount of heat required to convert 5 gm of ice
kept at -20°C into steam at 100°C:

(A) 675 Wﬁ'\&/ 675 calories

(B) 3775 Wﬁ'\ﬁ/ 3775 calories

(C) 3650 BT / 3650 calories

(D) 3725 Wﬁ'\&/ 3725 calories




(' 70. af e YOrafFy aw BT 3/4 YR UH 62 & Ruka
@m % Gl E'Hﬁ GI&; 3{TY (half life period) IGL] t_'-?f qbdl
e
If 3/4th of a radioactive element disintegrates in one
hour, then its half life period can be as follows:

(A) 2 Hc

(B) 1/2 Hc
(C) 1/4°¢
(D) 1/3 ©¢
(E) 3/4 Gc
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7. A FITRT e & R wgaa 8 -
Bernoulli's theorem is used for the following:
(A) Sal BT T84 (flow)

(B) RYTAdI (viscosity)

(C) UB d-Id (surface tension)

(D) R gq qld (static fluid pressure)
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72. 9 & ST 3qdge A HIHAT 37T YT §idT @ -

Amino acids are obtained by hydrolysis of the

following:

(A) T4 / fat

(B) ®TAI8TsS¢C / carbohydrate
(C) WA/ protein

(D) ?]\ﬂ?ﬂﬂi 3T / nucleic acid




